








NO Part Name 15FT 16FT

1

2

3

4

5

6

7

8

9

10

Instruction

Leg Extension

Base Leg

Connector

     Top Rail

Screw-M6*47MM

Balance Bar

Screw-M6*50MM

Wrench

Jumping Mat

1 1

12 12

6 6

12 12

12 12

12

6

12 

6

12 12

1 1

1 1



11

12

13

14

15

16

17

18

19

NO Part Name 15FT 16FT

Spring

    Spring Tool

    
    Frame Pad

Bottom Safety Pole

Up Safety Pole

Safety Net

 Fiber Rod

T-Plastic Joint

96

Net Rope

108

1 1

1 1

12 12

12 12

1 1

12 12

12 12

9 10



INSTRUCTION

Step 1:
insert the Leg Extension(#2)into the Base Leg(#3)and stick out completely,totally 6 legs.As shown 

in Fig.(Screwless installation)

Keep this side insid
e

STEP 2:

2 People would be necessary at this part.

Find out all the Top Rail(#5),and simply 

slide the thicker end tothe Connector(#4),

then connect the other side of Connector(#4)

to adjacent section with the thinner side.



Step 3:

Make sure you find the most flat place and it's plenty enough to put a trampoline,2 people would
 be necessary at this part,one person lifts up the top rail and connector assembly in step 2,and 
another person uses the leg assembled in step 1 to connect,then fix connector(#4)with screw(#6).
keep repeating step 3 until the 6 bases are connected,as shown in the picture.

Don't forget to check the Connector is tight enough.

Keep t
his si

de ins
ide



Step 4:

When the trampoline base is assembled,then we can fix the Balance Bars(#7)between 2 Leg Base.

Use the Screw(#8)to connect the Vertical Leg Extension,Leg Base,and Balacen bar,as shown in the 

picture below.Remember:The balance bar is connected between leg to leg,notinside of one leg.

M6*50MM



STEP 5-Trampoline Mat Assembly

The springs need to be placed in position as shown in the diagram below,in order to pull the     

"Trampoline Mat"in all four directions.Make sure each V-ring on themat corresponds to every 

single openning on the top rail.

MOST IMPORNANT TIP:

Count the holes on top rail and the V-rings in mat and mark every quater pointon both mat 

and top rail,then use the spring to attach the V-rings and holewhich were marked.

Lay out the Jumping

Mat(#10)inside the 

frame on the floor as 

the picture on the left.



                         TIP 1

Install the Springs in the X--shape order 
one by one to make sure the tension is  
distrib-uted evenly for the Jumping Mat.
Gently tap down against the spring if the
 hook is not completely in the hole.

                     TIP 2

Make sure the serial number 
of the triangular rings on the
 Jumping Mat and the holes
on the top rail frame are the 
same when counting from 
the same direction.

            WARNING

Please take care not to pinch 
your hands and other body 
parts during spring assembly.





STEP 6-Frame Cover Pad Assembly

A.Lay the Frame cover pad over the trampoline so 
that the springs and the steel frame is covered.Please
ensure that the Frame Pad covers all metal parts

B.Tie the strap located at the 
under side of the framepad 
to the frame.



STEP 7:

Mount the Bottom Safety Pole (#14)onto the Connector (#4)



STEP 8：

Insert the Up Safety Pole(#15)into the top of the Bottom Safety Pole(#14),and then rotate the 

Up Safety Pole(#15)to make the hole position coincide with the marble position of the Bottom 

Safety Pole (#14)untill the metal marbles pop out and fixed.Repeat step 8 to install 12 of the 

safety pole



STEP 9：

Insert the fiber rod(#17)into the top of the net (#16)

Use plastic joints(#18)to connect two fiber rods(#17)together,then insert the plastic joints(#18)into
 
the Up Safety Pole(#15)Repeat step 9 until the 12 fiber rods are connected in a circle



STEP 10：

Components net ropes(#19),safety net(#16)through the bottom hole components,and
 
parts cross around spring,and fixed.



Carriage Bag/1pc Step pole/3pcs Frame Pole/2pcs Ladder Screw/6pcs

STEP 11:

Follow the instructions below to install the Carriage Bag(#20)between the two Leg Base



STEP 12-LADDER ASSEMBLY

Take out the Frame Pole(#22),Step Pole(#21)and screw(#23).And screw the 

Step Pole(#21)above the Frame Pole(#22)as shown in the figure.



Screw/4pcs

Net/1pc Hoop/1pc Backboard/1pc Specific Pole/1pc

Screw/4pcs Spanner/1pc Basketball/1pc

Pump/1pc



STEP 13:

Install the Backboard(#26)and Basketball Net(#24)onto the Backboard Specific Pole(#27),

secure them with screw(#28).

Install the assembled backboard onto net pole(#15) with screw(#29)







   

  
 

 
 

  

 

   
    

  
 

    

      
   

      
     

      

   

 

20

LIMITED WARRANTY
Ours trampoline products to be free from defects in material and workmanship 
under normal use and service conditions. The steel frame is warranted for one (1) year after the date 
of purchase. All other parts are warranted for six (6) months after the date of purchase. Wind or 
weather damage is not warranted.

All warranty coverage extends only to the original retail purchaser from the date of purchase. .
This Warranty does not extend to any product or damage to a product caused by or attributable to fre 

ight damage, abuse, misuse, improper or abnormal usage, or to products used for commercial or rent 

al purpose. 

In addition, in order to meet the possible demand, our accessories can also be obtained for a fee. The 

 fee will include the value of accessories and the delivery fee.
You can contact us through the following email address：service@cnmersco.com

OUR COMPANY IS NOT RESPONSIBLE OR LIABLE FOR INDIRECT, SPECIAL OR 
CONSEQUENTIAL DAMAGES ARISING OUT OF OR IN CONNECTION WITH THE USE OR 
PERFORMANCE OF THE PRODUCT OR OTHER DAMAGES WITH RESPECT TO ANY 
ECONOMIC LOSS, LOSS OF PROPERTY, LOSS OF REVENUE OR PROFITS, LOSS OF 
ENJOYMENT OR USE, COST OF 
REMOVAL, INSTALLATION OR OTHER CONSEQUENTIAL DAMAGES. SOME STATES DO 
NOT ALLOW
THE EXCLUSION OR LIMITATION OF INCIDENTAL OR CONSEQUENTIAL DAMAGES.
ACCORDINGLY, THE ABOVE LIMITATION MAY NOT APPLY TO YOU.  

THE WARRANTY EXTENDED HEREUNDER IS IN LIEU OF ALL 

OTHER WARRANTIES AND ANY
IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR 
PURPOSE IS LIMITED IN ITS SCOPE AND DURATION TO THE TERMS SET FORTH 
HEREIN. SOME STATES DO NOT ALLOW
LIMITATIONS ON HOW LONG AN IMPLIED WARRANTY LASTS. ACCORDINGLY,
THE ABOVE 
LIMITATION MAY NOT APPLY TO YOU. This Warranty gives you specific LEGAL RIGHTS.
You may also have other rights which vary state to state.  

THIS WARRANTY IS VALID ONLY IN THE UNITED STATES.  


